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PAPER-II

Note : This paper contains FIFTY (50) multiple-choice, matching questions, each
question carrying TWO (2) marks. Attempt All the questions.
Al 2L WUl Y (40) stglasedly s, A1-vilg 2 ASSL trtladinl dedl
S, I WeiAL wAlel duidldl . s sl of () e 9. |

1. Which of the following is used to 1 yqgluaiil Allul AxU-L Grid Gualol

better utilise timing in a series of ' S “ "
& e Al sidl GualoL 4y 9 7

activities ?

(A) ¥4 ol v (MBO)

(A) MBO
_ (B) 4 (PERT)
(B) PERT
(C) SWOT - | (C) @2 (SWOT)
(D) PPBS D) lelBa (PPBS)

2 1 B 1 3 - ~ 5 - . . =~
2. Project Gutenberg is concerned 9 {J,é'ibtaf W%se il 2l A6 & ?

with :
(A) [, AHRst
(A) E-Journals

B) [Qong, 2Aul
(B) E-Books

(C) Bibliographic database (©) syl sewet

(D) Numeric database (D) issisla 2100

L.&.I.S.-11 ‘ 3 ' (P.T.O.]




Which of the following sources
attempts to explain the literary
terms and works ?

(A) Oxford
Quotations

Dictionary of

(B) Information Please Almanac

(C) Stevenson’s Home-book of

Quotations
(D) Benet’s Reader’s Encyclopedia
Match the following and choose the

correct answer from the codes given
below :

(i) Primary (@) LISA
Document

(ii) Geographical (b) Library
source - Herald

(iii) Abstracting (c¢) List of
Service research in

progress

(tv) Tertiary (d) Fodor’s India
Document

Codes :
@ @ @D o)

A & @ @ (o

B) @ & © (@

C) @ B d (o

D © @ @& @

L.&IS.-1I

R

Azl syl wld q4R[USYE ¢4

sl yHAAAlAl MUt 53 89 7
(A) lisAusg Sladl s sdi2aA
B) S-sizAud vl AARAS

(C) HlaR=a ¢lH 05 25 sleud
(D) A sA sRuAsalBuL
{13 2l [@Qsedid st

G wals wAd (@) dla

) ollolfes wlid k) asal des
(i) AR50 AdL () dlze »iis

2‘1&?[ g

MIEY

() ddld 2ld (@) sisd SFsu

51S ¢

@ @) @) (v
A & @ @ (©

B) d & © (@

_(C) @ G @ (©

D) © (@ G @)




Which information retrieval model
studies the properties of the natural
language as well as artificial

language ?

(A) Mathematical model
(B) Economic model

(C) Psychological model
(D) Linguistics model

.......................... divides documents
into three types such as primary,

secondary and tel;tiary.
(A) D. Grogan
(B) J.S. Mills
(C) S.R. Ranganathan

(DY J.H. Shera

L.&.1S.-1I

UL Yrt: AL su1 HISAU] 523l
ML Axy 5B el eyl
AHEARA SAUHL 2L D

(A LulRs Hisq

(B) ulds Hisq

(€) u-ldalls Hisa

D) seufasia Hise

uétﬁft% s, lgdly s gl e
AR USLRHL 18 adaa & 7

(A) €l. s

(B) ¥.ud. ey

(C) AR, oA

= =

(D) .2, AL
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Which of the following is not
used as Library Management

Softwarg ?

(A) LIBSYS

(B) SLIM

(C) LIBRARIAN

(D) GREENSTONE

The second area of ISBD(G)

is :

(A) Title and statement of
Responsibility

(B) Edition

(C) Physical Description

(D) Publisher and Distribution

L.&.LS.-IT

rﬂf{nl-j, sy Wlgedr Aulay AlsedR
a5 Guulami c?tcu_g'g ol ?

(A) LIBSYS

(B) SLIM

(C) LIBRARIAN

(D) GREENSTONE

ISBD(G) 4 [aldy ast & :

(A) vl m&_ sdea-dl waieelzl
(B) 2uqlx

(©) olifas agl+

(D) U515 i1 [Ad




10.

ki

Which of the following helps in

consistently identifying an

electronic object ?
(A) DOI.

(B) URL

(C) Web Address
(D) E-mail ID

The Library of Congress is located

Ao :
(A) Washington DC
(B) London

(C) Chicago

(D) New York

Gujarat Public Libraries Act was

passed in the year ................... :
(A) 1989
(B) 1993
(C) 2001

(D) 2004

L.&.1S.-11

10.

11,

Sdszidls viowse Aldcyel d
Sloeial 2e Al o Heezu wy
9 7

(A) SlA21S (DOI)

(B) yur¥id (URL)

(C) dol g (Web Address)

D) $—45e 2158l (E-mail ID)
Library of Congress 7, ¥4l :

(A) dilRider sl

(B) ds+

) [usweu

(D) ~ydl$

Ao e Adley AU YRR

sald ad :
(A) 1989
(B) 1993

(C) 2001

(D) 2004

[P.T.O.]




12.

13.

14.

The headquarters of AGRIS is

AL s e

(A) Hague

(B) Paris

(C) Rome

(D) New York

DELNE 15, oo :
(A) City Network

(B) National Network

(C) International Network
(D) Regional Network

Which of the following can be

termed as a union catalogue ?
(A) OCLC

(B) BNB

(C) MEDLARS

(D) World Cat

L.&.IS.-1I

12.

13.

14.

AGRIS g dg “as sul widg ¢ 7
(A) 831

(B) Ul

(C) M

D) ~yis

DELNET i :

(A) U8z Aeds

®) lzu Azaf

(C) idNU Aeas

(D) welus A2qs

Al i Aq YR sl usi ?
A) »lBadl (0CLC)

(B) ollx-ell (BNB)

(C) #sdl (MEDLARS)

(D) d¢S 32 (World Cat)




15. Match the following and choose the 15.
correct answer from the codes given
below :

(i) Bibliography (@) CAS
(if) Consortium (b) BNF
(i11) National Library (¢) OCLC
(iv) Abstracting (d) INB
Service
Codes :
@) @) G Go)
A © @ b)) (a)
B) @ ©© @ ®)
C) d @ b)) ()
D b d
M @ @ ® @@ i6.
16. Identify the right evolutionary
sequence : |
(A) Theory, Law, Hypothesis,
Axiom

(B) Axiom, Hypothesis, Law,
Theory

(C) Hypothesis, Axiom, Law,
Theory

(D) Law, Hypothesis, Theory,
Axiom

L.&.1.S.-1I 9

-

A 2ula [Qsevid sl

@) Ay (@) CAS
(i) SAIRAUA (b) BNF
() NI A"iay (¢) OCLC
(iv) ARSI Al (d) INB
51S

@ G @) G
A © @ b (@

B) @ @ @ &)
C) d © B (@

D) ) (@ B (@

Yoy [AsALHS $1 Al ¢

(A) Rugid, susl, Geseustl, addlsd
AA
(B) 2cdrellsd Yot, Geseusdl, sldel,

Rugid

(C) Geseustl, ddlsd yot, sluel,
Rgid

(D) S, Geseunl, Rigld, adellsd
ol
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 17. Which of the following search

18.

(B)

strategies involves facet

formulation ?

(A) Building Block Search

Strategy

(B) Citation Pearl Growing

(C) Multiple Brief Search

(D) Field Search

Job description helps in .......... .

(A) Getting suitable candidate

Improving the skills

(C) Satisfying the job

(D) Completing the assigned

work

L.&.I.S.-II
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17.

18.

AlArmil 65 aie wyBd deu [Ralee

wHal 4 9 ?

(A) [Beglol odis A @2
(B) aSeuq ud ALl
(C) Hellud ofls 4
(D) [3es ud

sl [Qarer Hee3uw Wy © ¢
(A) dlPY GHEALR Qﬁqqm[
(B) Slaedl yalaiui
sid Adiv MR

©)

D) Aluni 2udd sid yel sar 42




19. Who coined the term ‘Information

20.

21,

(©

Retrieval’ ?

(A) S.R. Ranganathan
(B) Farradane

(C) Calvin Mooers
(D) Lancaster

Sear’s List of Subject Headings is

published by e '
(A) H.W. Wilson

(B) Academic Press

(C) Library of Congress

(D) Oxford University Press

In experimental research the

purpose of the control group is ........

(A) To serve as a comparison

(B) To take the treatment

To help in formulating the

hypothesis

(D) To offer itself for

experimentation

L.&I1.S.-1I
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19.

20.

21.

O
i
i,

‘HUBAL Yy willd’ woe

w7

(A) AU 2. T
(B) %38

(C) 3[a= ij_gi

(D) d3eR

‘Rud R 2Us Ao s dslou’ -l

UsAS
(A) WA.SHY,. Ric-t

(B) AxsHls A

(C) alal »is siAx

(D) Ususs yMaRlZl A
WALRLS AaAnl FREBid oa-l
8 :

(A) dd-l dls Aar il

(B) Haxd Adl

(C) Geseusiirl (RuiRml uslueid ag

(D) Wd % dHPRL M2 dulR eg

[P.T.O.]




22.

23.

Which of the following is nof an

Open Access Database ?
(A) DOAJ

(B) ERIC

(C) WIKJPEDIA

(D)

EMRALD

Which of the following is credited
with the preparation and

publication of the Public Library

- Manifesto ?

(A) ALA

(B) IFLA

(C) UNESCO

(D) ILA

L.&.1.S.-11

12

22.

23.

izl s34 2lud A5AA Sl
ol ?

(A) Slulin% (DOAJ)

(B) 3ls (ERIC)

(©) 158U (WIKIPEDIA)

(D) HRUS (EMRALD)

AR AUy 2 dUIR sl A

WSt s4Alg AU siA Ay © 7
(A) »d3l (ALA)

(B) 954l (IFLA)

(C) Yyl (UNESCO)

D) 208 e 3 (ILA)




94. The mode used for framing the  24.

- 25.

26.

subject ‘Humanities’ is through :

(A)

(B)

(©)

(D)

Distillation
Lamination
Agglomeration

Cluster

93rd edition of DDC contains .........

number of tables. 25.

(A)

(B)

(&)

(D)

Five
Six
Seven

Eight

Which of the following is not a

communication protocol ? 26.

(A)

(B)

(C)

(D)

FTP

0OS1

HTTE

TCP

L.&.1S.-II 13

Cpaalaensil’ sl olaleiM
Rva—Faledl 59 uBadl Guylal

iy 9 7
(A) [(Fae (Distillation)
(B) X158 (Lamination)
(C) %dls2@l (Agglomeration)

(D) AuYlsel (Cluster)

gl 23 3l 2uqlaHi

20616, 9,

(A) uixn

(B) ©

(C) uld

D) 2

izl o wenun weisia 4l ?
A) 2sdldl (FTP)

(B) Uzl2S (0SD)

() 2238l (HTTP)

(D) AL (TCP)

[P.T.O.]




27. Cost associated with a set. of

periodicals arises from :

(A) Nominal Scale

(B) Ratio Scale

(C) Ordinal Secale

(D) Interval Secale

28. When a book has no author and
has only two editors and an
illqstrator, the main entry
according to AACR-II is prepared
under :

(A) First editor
(B) Both the editors
(C) Illustrator

| (D) Title

I L.&IS.-II

14

27.

28.

AMASL A AoiBd USA 24 gl

qaqy 9

(A) MlHa 2y (Nominal Scale)

(B) 2[4l e (Ratio Scale)

(C) »UBd 3q (Ordinal Scale)

(D) $verad e (Interval Scale)

YRelsell Qs A €ld Ug AMi 6L AuLes

sld A Rssla slw @l

A2 1T Howor Yoo «{iy

dl dulr sumi 21d B,
(A) HYH Ayles

(B) o~ yules

©) RPisiz

D) Aan




29. Which of the following 1s a meta

30.

search engine ?
(A) Dogpile

(B) Google

(C) MSN Search
(D) Alta Vista

Which information gathering
approach involves wide range of

literature search ?
(A) Current

(B) Everyday

(C) Brushing-up

(D) Exhaustive

L.&.IS.-1I

15

29. lA-uHidl $Y meta search engine

30.

7
(A) slrudd (Dogpile)
(B) 2ld (Google)
(C) AHVANA (MSN Search)
(D) el [ARel (Alta Vista)

Rl AsflsaAl sul sl
Run-Rya sl uledl wa ad
W o ?

(A) 28dH (Current)
B) URel (Everyday)

(C) dRlldl $19 (Brushing-up)

@) wdadl (Exhaustive)

- [P.T.0.]




31.

32.

Which of the following search
strategies proceeds from a high

precision to a high recall ?

(A) Building Block Search

Strategies
(B) Truncation
(C) Citation l:iearl Growing
(D) Pairwise Facet Search

Which of the following can indicate
the movement of an object of

s’gudy 2

(A) Line Graph
(B) Pie Chart

(C) Bar Graph

(D) Flow Chart

L.&IS.-II

16

31.

32.

Al 56 sl uysdl Ga Als1s)

G2t WA dRs 21010 98 & ?
(A) [Bieslol odls alie ey
(B) 23+

(C) 2w ud Al

(D) Udr a1y $de ¥

ALY S80L Ao sed] adlR]

Al A gm euldl usiy ?
(AI) S AL
B) wd A
(C) our zu.é

(D) sdl 18




34.

35.

Which of the following is a post-

cordinate indexing system ?

(A) POPSI

(B) Uniterm

(C) PRECIS

(D) Chain indexing

In OSI model, network layer is :
(A) The fopmost layer

(B) Just above the transport layer
(C) Just above the physical layer
(D) Just above the datalink layer

Which of the following may
contain devices such as protocol

translators ?

(A) Routers

(B) Concentrators
(C) Gateway

(D) Repeater

L.&.LS.-11

33.

34.

Azl 58 vig-uulad (usad
anfad) BEadlsae uel & ?

(A) il (POPSI)

B) yFeHl (Uniterm)
(C) ddlu (PRECIS)
Mg allsn

(D) Ymdl (Chain

indexing)
OSI _vftscwi deds dur
A) Agdl Guadl aur slu ©
B) 21=uUlE Auzl gid Gur-dlauz |
(C) él:ﬂsa dqual g3 Gursl Qur
@) el dls Quzl gid Gua-laur

QA-mizl a1l wielsia ginder

Basy siu ud & 7
(A) 21322 (Routers)
(B) Sl-u~igex (Concentrators)
(©) A2 (Gateway)

D) [(Rlex (Repeater)

[P.T.O.]




36.

37.

38.

The routing of periodicals is

considered as :

(A) SDI

(B) CAS

(C) Indexing service
(Dj Abstracting service

In MARC format, leade;' always has

a fixed length of :

(A) 22 characters

(B) 12 characters

(C)

24 characters

(D) 14 characters

Which of the following describes the

frequency of words in a given

publication ?

(A) Lotka’s Law
(B) Zipfs Law

(C) Bradford’s Law

(D) Citation Analysis

L.&.IS.-11
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36.

37.

38.

ARSI Fafia wRse s wd
dsdg @ ? |
(A) WAeysd HilRdl waz Aay

(SDD)

(B) eldw asiig Adl (CAS)

(C) [H€ls28 ddl (Indexing

service)

(D) AR5 YdL (Abstracting

service)

S s19eHl Leader 32di (M[Bad
dolle ey 6 7

(A) 22 53ser

(B) 12 3323

(C) 24 53523

D) 14 53seR

slarH 2egid] il sauld ¢ :
(A) dlesiHl S48l (Lotka’s Law)
(B) M-l s1uel (Zipfs Law)
(C) 9818l 145l (Bradford’s Law)

(D) Gedw yass@ (Citation

Analysis)




39.

40.

41.

Devices are used in classification

schemes :
(A) To make the schemes rigid
(B) To satisfy the library users

(C) To provide autonomy to a

classifer

(D) To introduce facetisation

Which of the following is a grey-

literature ?
(A) Book
(B) Journal
) Thésis
(D) Patents

Which of the communication
theories introduces us to the

question of noise ?

(A) Schramm’s communication
model

(B) Lasswell communication
model

(C) Shannon model of
communication

(D) Gerbner’s cultivation theory

1.&.1.S.-11
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39.

40.

41.

qol528 ugRil Yl vt Gualdl

sl A ¥ ¢

(A) uglziia sulzadnelld sidladl
e

(B) ey GUGisdlviiqa ddde s34l

©) adls@ stz LUl

2L HI2
@) Husladl Godl sl 2
el sy A Al 8 7
(A) U4
B) wWHAS
(C) HellRola
D) ue-
ol us wld Aellad weulu-
Bigiciell Ry 518 »uldl 8 ?
(A) LB A Hsd
(B) dlMAd Ml Hisd
(C) Aeird, MU HISd
@) etz sedldan Ryl

[P.T.O.]




42.

43.

Which of the following services
could be called as extension services

of a library ?

(A) Starting of reference service
(B) Providing guidance service
(C) Providing Eibliographic service
(D) Creating branch libraries

A zero based budget is that

where :

(A) There is o budgetary

.p_rovision for any activity

(B) Thefe 1S no
provision for any new
programme

(C) There is a scope for new
budgetary heads without any
precedent,

(D) There is a budgetary provision
only for the earlier budget
heads |

L.&.1.S.-1I

budgetary

42,

20

43.

A2l 56 Acun darend] Radzg

Al s¢l usy ?

(4) Aeel Al w3 s

(B) woleald Aal 4 wisdl

(®) q:._s-%a;[i{am Aadl Y3l mscﬁ
(D) SRCT) giauai A 529

Lt UAR d eI UA-AL AHE 514

-

2l

G

(A) ol siSuBL ugRL W2 vielarus(ly

oot ]

(B) wul $1SURL Al s1dsy w1

ety Aoras el

(©) %l 518 yd auaz [c "l
el us{ly, qaon qisH] Roials
3

(D) FUlL A 20UGHL 2ielYs

HYLIL Hie Bielmusly Roals ©




44. Canon of context belongs to :

45.

(A)

(B)

©

(D)

‘Fair

Canons for Characteristics

Canons for Array

Canons for Chain

Canons for Verbal Plane

norm for

use’ 1s the

determining the legality of :

(A)

(B)

(®)

(D)

Providing the second edition of

a book
Photocopying a full book

Sending a book on inter library

loan to another library

Prescribing a book as a text

book

L.&.1S.-II

44.

45.

21

yal u2 Aeiad Guysl Aels 4rld

¢9

(A)

(B)

(C)

(D)

cleRsdiiicl Gustl

Ul GuyaLl

ALS0AL BUYL

whes saiql Guyall

‘Fair use ALY sil AlRsal

MBad sdld alzer o 7

(A)

(B)

(C)

D)

dadl Rdla sugf 43l wsdl
Ayl siudl sieisa qaadl

Y AYLAUA Aid AULEY

Gg0l gLl AU Hisadl

e wsuyads d¥ly M sl

[P.T.O.]




46.

47.

48.

CILIP is the new name of : 46.

(A) ALA
(B) ASLIB
(C) IFLA
(D) LA

Who among the following is

47.

considered the father of Human
Relations School of Thought in

Management ?

(A) Frederick Winslow Taylor
(B) Elton Mayo

(C) Chester I Bernard

(D) Henri Fayol

NASSDOC produées bibliographical  48.

products in the area of ........... ‘
(A) Social Sciences

(B) Pure Sciences

(C) Technology

(D) Medicine

L.& I.S.-1I 22

(C)

CILIP sid g w4 B
(A) ¥ayl (ALA)

(B) Qec{lo{ (ASLIB)
(C) Ssal (IFLA)
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